ECN211 Final Exam:

1. (LO1) Scarcity in economics means

a.  not having sufficient resources to produce all the goods and services we want.

b.  the wants of people are limited. 

c.  there must be poor people in rich countries. 

d. “all other things constant”

2.  (LO 2) Which is NOT a factor of production used for growing rice in China?

a. Soil

b. Farmers

c. Money

d. Seeds

Exhibit 1: “Guns and Butter”
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	3. (LO 3) Refer to Exhibit 1.  If the economy were operating at point B, producing 16 units of guns and 12 units of butter per period, a decision to move to point E and produce 18 units of butter: 

	a. 
	indicates you can have more butter and guns simultaneously. 

	b. 
	makes it clear that this economy experiences decreasing opportunity costs. 

	c. 
	involves an opportunity cost of 8 units of guns per period. 

	d. 
	involves an opportunity cost of 4 units of guns per period. 

	e.
	involves an opportunity cost of 6 units of butter per period. 


Exhibit 2: “Making Breakfast”
Sally can produce 50 pancakes or 20 muffins in a morning.  Thomas can produce 30 pancakes or 10 muffins in a morning.

4. (LO 4) Refer to the Exhibit II Above.  The opportunity cost for Sally to make one muffin is


a. 0.4 pancakes 


b.  2.5 pancakes 


c.  30 pancakes


d. 50 pancakes


e. 20 muffins 

5. (LO 4) Refer to the Exhibit II Above.  Following the law of comparative advantage, Sally should specialize in making ________ and Thomas should specialize in making _________. 

	a.
	nothing; both pancakes and muffins

	b.
	both pancakes and muffins; nothing

	c.
	pancakes; muffins

	d.
	muffins; pancakes




6. (LO 5) The price of a slice of pizza in a local pizza parlor has recently decreased, ceteris paribus.  What will occur?

a. The quantity demanded of pizza will increase

b. The quantity demanded of pizza will decrease

c. The demand for pizza will increase

d. The demand for pizza will decrease.

7. (LO 6) Spaghetti has recently increased in price.  What will happen in the pasta sauce (a complement to spaghetti) market?

a.  Demand for pasta sauce increases

b. Demand for pasta sauce decreases

c. Supply of pasta sauce increases

d. Supply of pasta sauce decreases

8. (LO 6) A frost in Northern California destroys many vineyards, which is used to produce wine.  What will happen in the market for wine? 

a. Demand for wine increases

b. Demand for wine decreases

c. Supply of wine increases

d. Supply of wine decreases

9. (LO 7) The processing power of computers has increased, making it easier for the firm  A&B Block Tax Accountants to process tax returns.  Ceteris paribus, what will happen to the price of accounting services and the number of accounting services delivered?
a. Equilibrium price increases; equilibrium quantity increases

b. Equilibrium price increases; equilibrium quantity decreases

c. Equilibrium price decreases; equilibrium quantity increases

d. Equilibrium price decreases; equilibrium quantity decreases

10. (LO 8) The Russian government recently put a price floor on the sale of vodka, changing its market price.  Which of the following graphs most closely represents the new market for vodka in Russia?

a. Graph A

b. Graph B

c. Graph C

d. Graph D

Graph A: 



   Graph B:
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Graph C. 


    
   Graph D
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11. (LO 9):  In the small country of Ricardoland, the CPI in 2007 was 120 and the CPI in 2008 was 180.  What is the inflation rate between 2007 and 2008?

a. 5%

b. 10%

c. 30%

d. 50%

e. 60%

Exhibit 3: Employment data for the Republic of Economica

	Categories
	Data

	Population
	100 million

	Labor Force
	80 million

	Employment
	60 million

	Unemployed
	20 million


12. (LO10) Refer to the Exhibit 3.  What is the unemployment rate for Economica?

a. 12.5%

b. 14.3%

c. 20.0%

d. 25.0%

e. 33.3%

13. (LO 11): What does real GDP take into account that nominal GDP does not?

a. Changes in interest rates

b. Changes in tax policy

c. Changes in the price level

d. Changes in the unemployment rate

e. Changes in the exchange rate

Exhibit 4: The Business Cycle 
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14. (LO12) Refer to Exhibit 4. Which of the following statements is true?

a. The economy experiences increasing cyclical unemployment between t1 and t2.

b. The economy experiences decreasing structural unemployment and increasing cyclical unemployment between t1 and t2.

c. The economy experiences increasing cyclical unemployment between t2 and t3.

d. The economy experiences increasing structural unemployment between t2 and t3.

Exhibit 5: Economics Data for the Country of Fantasian
	Consumption
	$700 

	Investment
	$100 

	Government Purchases
	$150 

	Exports
	$200 

	Imports
	$250 

	Transfer payments
	$50 

	compensation to employees
	$600 

	corporate profits
	$30 

	tax revenue
	$180 


15. (LO 13):  Refer to Exhibit 5.  Calculate the GDP for this economy using the expenditure approach.

a. $900

b. $950

c. $1,400

d. $1,500

e. $1,530

16. (LO14) Which of the following will shift the aggregate demand curve to the left?

a. A decrease in taxes

b. An increase in domestic income

c. The value of the dollar depreciates

d. An increase interest rates 

e. An increase in foreign nation’s income

17. (LO15) If the government increased government purchases by $300 billion, the ultimate impact on aggregate demand will be _______ the original amount spent.  The Aggregate demand will shift to the _________.

a. Greater than; left

b. Greater than; right

c. Less than; left

d. Less than; right

Exhibit 6: The Three States of the Economy
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Graph 1


     Graph 2



Graph 3

18. (LO 16) Refer to the exhibit 6 above.  Which graph represents the highest unemployment rate?

a. Graph 1

b. Graph 2

c. Graph 3

19. (LO17) India’s economy has been growing at about 9%/year.  At this rate, how long will it take for the economy to approximately double in size?

a. 4-5 years

b. 7-8 years

c. 11-12 years

d. 19-20 years

e. 35-36 years

20. (LO18) Which of the following factors will NOT increase the production capacity of the economy (i.e., what will NOT shift the Long-run aggregate supply curve to the right)?

a. Discovery of new natural resources

b. improvement in technology 

c. change in exchange rate

d. improvement in human capital

e. households savings rate increases

21. (LO19) Money that some authority, generally a government, has ordered to be accepted as a medium of exchange is called _______ money. 

a. fiat 

b. intrinsic 

c. commodity 

d. debt 
22. (LO 20) The Federal Reserve wants to increase the money supply.  What could they do?

a. Buy treasury securities, increase discount rate, decrease required reserve ratio

b. Sell treasury securities, increase discount rate, increase required reserve ratio
c. Buy treasury securities, decrease discount rate, decrease required reserve ratio
d. Buy treasury securities, increase discount rate, increase required reserve ratio

e. Sell treasury securities, increase discount rate, increase required reserve ratio
23. (LO21) What would make the value of the U.S. dollar depreciate?

a. Higher interest rates in the United States relative to other countries.

b. Higher demand for U.S. made goods from other countries.

c. Higher price level in the U.S. relative to other countries.

d. A reduction in the money supply

24. (LO22) The Fed recently announced an increase in the growth of the money supply.  How will this impact interest rates and the value of the dollar, ceteris paribus?

a.
Interest rates fall; dollar depreciates 
b.
Interest rates fall; dollar appreciates

c.
Interest rates rise; dollar depreciates

d.
Interest rates rise; dollar appreciate
25. (LO23) Assume the economy is in a recessionary gap, and the Fed enacts policies to increase aggregate demand.  If there are significant lags present in enacting the policy, which is the likeliest outcome in the economy?

a. A shift left in the short-run aggregate supply (SRAS) makes the policy ineffective; the economy remains in the a recessionary gap.

b. The economy returns to long-run equilibrum quickly.

c. A shift right in the short-run aggregate supply (SRAS) makes the policy ineffective; the economy is pushed into an inflationary gap.

d. Long-run aggregate supply shifts to the right, leading to a lower unemployment rate and a lower price level.

e. Other components of aggregate demand decrease in response, leaving aggregate demand constant and the economy remains in a recessionary gap.

26. (LO24) Identify the equation of exchange.
a. MV = PI

b. MV = PY

c. MY = PV

d. MI = PY

M = Money Supply, V = Velocity, I = Interest Rates, P = Price Level


Y = Real GDP


27. (LO25) How can the Congress and President use fiscal policy to stimulate aggregate demand in the economy?

a. decrease taxes; decrease government purchases

b. decrease taxes; increase government purchases

c. increase taxes; decrease government purchases

d. increase taxes; increase government purchases

28. (LO26) - Assume the economy is in a recessionary gap, and the federal government  enacts policies to shift the aggregate demand to the right.  If there is complete crowding out, what is the likely outcome in the economy?
a. A shift left in the short-run aggregate supply (SRAS) makes the policy ineffective; the economy remains in the a recessionary gap.

b. The economy returns to long-run equilibrum, but faster than it otherwise would have.

c. A shift right in the short-run aggregate supply (SRAS) makes the policy ineffective; the economy is pushed into an inflationary gap.

d. Long-run aggregate supply shifts to the right, leading to a lower unemployment rate and a lower price level.

e. Other components of aggregate demand decrease in response, leaving aggregate demand constant and the economy remains in the a recessionary gap.
29. (LO27) – Which statements below are consistent with the consumption function?

i. For every $1 increaes in disposable income, households increase consumption by $1 as well.

ii. When household income is $0, households consumption is $0.

a. Only i

b. Only ii

c. Both i and ii.

d. Neither i nor ii.

30. (LO28) – Which of the following is not a component of gross private domestic investment (GPDI, aka “Investment” in GDP)?

a. Change in Private Inventories

b. Durable goods

c. Nonresidential equipment and software

d. Residential investment

e. Nonresidential structures

31. (LO29) – Which of the following will likely shift the demand for investment goods to the left?

a. Expectations about the economy improve

b. The capacity utilization rate becomes higher

c. The cost of capital goods increases

d. The rate of technology improvement accelerates

e. The wage rate of unskilled workers (a substitute for capital) increases

32. (LO30) – Which of the following will likely increase net exports?

a. The price level in other countries increase faster than in the U.S.
b. Real income for foreign citizens decrease
c. The U.S. dollar increases in value relative to other currencies
d. U.S. consumers begin to prefer products made in other countries
e. All of the above will increase net exports

33. (LO31) – In the international “balance of payments”, exports and imports are recorded in the ______.  The purchase of assets between countries are recorded in the ______.
a. capital account; capital account

b. capital account; current account

c. current account; capital account

d. current account; current account

34. (LO32) If the economy is going through a stagflationary period, this suggests that

a. Unemployment is increasing and the inflation rate is high
b. Unemployment is decreasing and the inflation rate is high
c. Unemployment is increasing and the inflation rate is low
d. Unemployment is decreasing and the inflation rate is low
35. (LO33) Consider the statements below.  Which ones are supported by classical (or neoclassical) economists, and which are supported by Keynesian economists?

i. The economy is assumed to have flexible prices and wages.
ii. The economy may take a very long time to return to normal employment levels, so it’s the government’s responsibility to intervene.
iii. Reducing recessionary or inflationary gaps primarily occurs through shifts in aggregate demand.

iv. The government should prefer a “laissez-faire” (“hands-off”) policy.
a. Classical: i & ii; Keynesian; iii & iv

b. Classical: iii & iv; Keynesian i & ii

c. Classical: i & iv;  Keynesian: ii & iii
d. Classical: ii & iii; Keynesian: i & iv
